' “::TGH 1s a 'k l Es I
[ ] W ot a bike> b u b
h?gt't turns Find the street smart words in the grid. They read
dTlVe\(j/:y! forwards, backwards, up, down and diagonally.

Have fun with these puzzles about staying safe near roads The leftover letters spell a wheely great lesson!
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Can you match the road signs to the * ALERT
correct meanings? Remember triangles SIT HIGIT LI BI[N/H|N|. ATTENTION
are a warning and red circles mean EIAIIKIBICICIOIAINI BIKE
don’t do something. * BRIGHT
E|{T|F|E|/I|L|A[I|T/A| BS
OA° N|E|K|E|K|O|R|T 3]v] coms
*EYE
0% E/IM[LIAJE|T|S NAT| ™ .
CILIA|B S|H|I |[E|C | H| -HEMET
. When you’re crossing ii\::'lr?sr
[I'he answer is [The answer IS] The answer |s [I’he answer |s [I’he answer |s a road by bike or on I EIWEI Y ELITIKIG T A
foot, look right at
+ POLICE
drivers and try to LIHD/T|T|S|Y|T|E]|I . Sl(-\)FEc
“catch” their eye. O E/IAILIEIRITIAITIR « SEEN
. If they make eye « VAN
C) No pedestrians contact, you know P/ C/IOLIOJUR|S|U B} - -wax
A) Two-way traffic D) Zebra crossing ahead they’ve seen you.
B) No entry for vehicles E) No cycling
u z T M Test your road safety
Q . . o knowledge with this fun quiz. Wh
Can you unravel the headphones to TRUE OR FALSE? For the C) Because “two can” use it, P:rii;he I?Ziest
AR‘ put your phone away before you go same amount of energy, both pedestrians and cyclists. The Wheela ike?
u anywhere near roads? you can travel three times TRUE OR FALSE? More they're ;la/icause
faster cycling than walking. teenagers are h;xrt on tyre-qi ys
Where did roads than toddlers.
the toucan
crossing get its W]t;en gohu feEOﬁ; d Produced by
name? oua dolf,s’ what shot B3 Creative, a
A) From the bird Y lk' dih consultancy
whose feathers fA) Wallcaround the specialising in
are black and ront children’s content
white — as is the crossing B) Walk around the back www.b3creative.com/
B) From the two cans of paint C) Wait for the bus to fully our-work
it takes to paint one pull away. ) .(:.De;:,?go 37172 23)424
reative 2020

ANSWERS

o 9 E
S =
L 0 =
= £
- @ =
N ==
S5
- 3 @
SE1
Qo
x @ a
Z|Z| <> |- T O~ 2ia
(e[| ]olx|ul-[3
Zzlo[=|r|z|w|-|r[<|n
o offefn|=a]>|-|e
- OO T W n @ D
| RO | X A | > | = w | ©
O X | w |||/
I~ |x2|ala|za|c|o
W S - W T WY
Vi W Z (w0 == O A
-
[~
()
-
™
8
o (]
I'E <
- O
= 2
S B
= @
d g
S
2 3
|0 w
< -
o =
< O
o £
[T ]
o~ E
8 &
. g
-
<
on .2
£
“ g
c =
w @
e f—
2




